
 Test Statistic p 

species F1,27 = 0.8281 0.3709 

sex F2,27 = 0.3501 0.7078 

social status F2,27 = 1.4566 0.2508 

spontaneous or induced 

disease 

F1,27 = 0.0454 0.8329 

species*sex F1,27 = 0.3153 0.5791 

species*social status F1,27 = 0.2354 0.6315 

sex*social status F2,27 = 0.5335 0.5926 

resource category F1,26 = 0.0101 0.9208 

after removal of ‘red flags’ 

species F1,18 =  0.8237 0.3761 

sex F2,18 = 0.2132 0.8100 

social status F2,18 = 0.1408 0.8696 

spontaneous or induced 

disease 

F1,18 = 0.7598 0.3949 

species*sex F1,18 = 0.5018 0.4878 

species*social status F1,18 = 0.3303 0.5726 

sex*social status F2,18 = 0.5802 0.5699 

resource category F1,17 = 0.1804 0.6763 

 


